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Vector Algebra

Q.No.1: 
If the vectors  and  are the sides of a triangle ABC, then
the length of the median through A is :

A. 

B. 

C. 

D.

Q.No.2: Let ,  and  be three non-zero vectors such that no two of them

are collinear and  If θ is the angle between

vectors  and  then a value of sin θ is:
A. 

B. 

C. 

D.

Q.No.3: Let ,  and  be three unit vectors such that

. If  is not parallel to , then the angle

between  and  is:
A. 
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B. 

C. 

D.

Q.No.4: Let  and . Let  be a vector such that 

 and the angle between  and  be

30°. Then  is equal to
A. 

B. 2
C. 5
D.

Q.No.5: Let  be a vector coplanar with the vectors  and

. If  is perpendicular to  and , then  is equal to

:
A. 256
B. 84
C. 336
D. 315

Q.No.6: The length of the projection of the line segment joining the points (5,
–1, 4) and (4, –1, 3) on the plane, x + y + z = 7 is :

A. 

B. 

C. 

D.

Q.No.7: Let  and  be a vector such that
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 and  then  is equal to:

A. 

B. 9
C. 8
D.

Q.No.8: Let 

 be three

vectors such that the projection vector of  on  is . If  is

perpendicular to , then  is equal to:

A. 

B. 6
C. 

D. 4

Q.No.9: Let  and

 be three vectors such that  and  is

perpendicular to . Then a possible value of (λ1, λ2, λ3) is:
A. (1, 3, 1)
B. 

C. 

D. (1, 5, 1)

Q.No.10: Let  be two given

vectors where vectors  are non-collinear. The value of λ for which

vectors  are collinear, is :
A. –4
B. –3
C. 4
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